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Classe de 4°¢

Exercice 1

Développer et réduire chacune des expressions littérales suivantes :

A=4x2x D=9x+ (92 —8) x9
B=4zx2 E=(-Tz-2)x6—6
C=-4zx+1+4+2x (8x+5)

Exercice 2

Développer et réduire chacune des expressions littérales suivantes :

A=4x5x D=2x(6x+6)—4x+6
B=9x Tz E=0(Bx—-1)x2+5z
C=(4z—6)x10+1

Exercice 3

Développer et réduire chacune des expressions littérales suivantes :

A=8xx3 D=8z+6)x5+9
B=2x9z E=—4z+5x% (5z+2)
C=(-9z-1)x8+7z—5

Exercice 4

Développer et réduire chacune des expressions littérales suivantes :

A=T7Txx3 D=8x—-1)x10+6
B=9x2z E=2+10+10 x (22 — 9)
C=(—x—-3)x6+6x

Exercice 5
Développer et réduire chacune des expressions littérales suivantes :
A=Tz x6 D=-2x-949x(-7x+9)

B=5x3z E=9z+ (-82z—-9)x3
C=10x (dz+1)—7
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Corrigé de I'exercice 1

Développer et réduire chacune des expressions littérales suivantes :

A=4x2zx
A=4x2xzx
A=8x

B=4xzx2
B=4xxzx2
B=4x2xux
B =8z

C=—-4z+14+2x (8z+5)
C=—-4x+14+2x8x+2x5
C=-4zx+1+2x8xx+10
C=—4x+1+16x+ 10
C=—-4x+16x+1+10
C=(-4+16) x+11

Corrigé de I'exercice 2

C=12zx+11

D=9z+ 9z—-8)x9
D=92+9xx9—-8x9
D=9z +9xxx9-—-"72
D=92+9x9xax—"72
D=9x+4+81lz— 72
D=(94381)z—T72

D=90x — 72

E=(-Tzx—2)x6—-6
E=—-Txx6—-2x6-06
F=-Txzxx6—-12—6
EF=-7Tx6xx—18

E=—-42z —18

Développer et réduire chacune des expressions littérales suivantes :

A=4x5zx
A=4x5xzx
A=20x
B=9xT7x
B=9x7xx
B =63z

C=M4zx—-6)x10+1
C=4xrx10—-6x10+1
C=4xxx10—-60+1
C=4x10xx—59

C=40x - 59

Corrigé de I'exercice 3

D=2x(6x+6)—4x+6
D=2x6x+2x6—-4x+6
D=2x6xx+12—4x+6
D=12x—4x+12+6
D=(12—4) x+ 18

D =8x+18

E=(Bx—-1)x2+5z
EF=5xrx2—-1x24+5x
EF=5xxx2—-2+5bx
E=5x2xx+5bzx—2
E=10x+5x—2
E=(10+5)z—2

E=15x -2

Développer et réduire chacune des expressions littérales suivantes :

A=8xx3
A=8xxx3
A=8x3xzx
A=24x
B=2x9x

B=2x9xzx

B =18z

C=(-92—-1)x8+4+7x—5
C=-92x8—-1x8+T7x—-5
C=-9xaxx8—-8+7x—-5
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—9Ox8xax+Tx—8—-95
-2 +7x—8—-5
=(=7247)x—-13

C
C
C

C=—-65z—13

D=8z+6)x5+9
D=8xrx54+6x5+9
D=8xxzx5+30+9
D=8x5xz+39

Corrigé de I'exercice 4

D =40x + 39

E=—-4x+5x (bx+2)
E=—-4x+5xbx+5x2
EF=—-4x+5x5xz+10
E=—-4x+4+252+ 10
E=(-4+25)x2+10

E=21xz+10

Développer et réduire chacune des expressions littérales suivantes :

A=T7Txx3
A=7Txxx3
A=Tx3xx
A=21x
B=9x2zx
B=9x2xux
B =18z

C=(—z—-3)x6+6z
—xX6—-—3x6+6x
—1xzx6—-1846x
—1x6xx+6x—18
—6x+6x—18
=(—6+6) z—18

C
c
C
c
C

Corrigé de I'exercice 5

C =-18

D=8x—1)x10+6
D=8xx10—-1x10+6
D=8xxx10—10+6
D=8x10xx—4

D=80x—14

E=2+10+10x (22 —9)

E=x+4+10+10x2x+ 10 x (-9)
F=2+10+10x2x2—90

E=z+10+20z — 90
E=x+20z+10—90
E=(1+20)z—80

E=21x-280

Développer et réduire chacune des expressions littérales suivantes :

A=T7Txx6
A=Txxx6
A=Tx6Xzx
A=42x
B=5x3zx
B=5x3xzx
B=15z

C=10x 4z +1)—7
C=10x4x+10x1-7
C=10x4xx+10-7

C=40x+3

D=-22—-9+9x(=7x+9)

D=-22-9+9x% (—72)+9x9
D=-22-94+9x(=7)xxz+381

D=-2zx—-9—-63x+81
D=-2zx—-63z—-9+81
D=(-2-63) x4 72

D=—-652+72

E=9x+(-8x—-9)x3
EFE=92x—-8xx3—-9x%x3
EFE=9x—-8xxx3-27
E=9x—-8x3xx—-27
E=9x —24x —27
E=(9-24)x—27

E=—-15xz—-27
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